
PART - A [2 × 15 = 30]
Attempt Any Two questions from the following :
Q1) What is advocacy? Discuss qualities of a good lawyer.

Q2) Draft a sale deed of a flat with the proper use of legal language.

Q3) Explain legal reasoning with reference to Dahyabhai Chhaganbhai Thakkar v.
State of Gujarat.

PART - B [4 × 10 = 40]

Attempt Any Four questions from the following :
Q4) Define legal language. What is difference between Legal English and General

English?

Q5) Discuss brief history of law in India.

Q6) Draft a notice given to the wife by a husband intimating his intention to
initiate divorce proceedings.

Q7) Discuss client interviewing and its importance for lawyers.

Q8) What is logic? How does it play significant role in legal profession?
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Instructions to the candidates:

1) Answer any two questions from Part 'A'. Each question in Part 'A' carries
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PART - A [2 × 15 = 30]
Q1) Explain the meaning of Public Administration. Discuss the stages of the

evolution of Public Administration as an academic discipline.
Q2) Discuss the meaning and objectives of Public Policies. Explain various types

of Public Policies with examples.
Q3) Critically evaluate Max Weber's Bureaucratic Apporach to study Public

Administration in detail.
Q4) What is Judicial Administration? Explain various provisions of maintaining

the Independence of the Judiciary in India.

PART - B [3 × 10 = 30]
Q5) State the meaning of Accountability and Control. Explain Legislative Control

Over Executives and Administration in India.
Q6) Write a detailed note on Ethics in Judicial Administration.
Q7) Explain with examples the impact of Public Policies and Executive Actions

on society.
Q8) Explain the Scientific Management Approach to Study Public Administration

propounded by F.W. Taylor in detail.
Q9) Discuss the relationship of Public Administration with Political Science and

Law.
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PART - C [2 × 5 = 10]

Q10) Write a short note on the following. (Any Two)

a) Policy vs Rules

b) POSDCORB

c) E-courts

d) Good Governance


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doi : 3 Vmg     ] [ EHy$U JwU : 70
gyMZm :

1) ^mJ-A _Yrb H$moUË`mhr XmoZ àým§Mr CÎmao X²̀ m. ^mJ-A _Yrb àË òH$ àý 15 JwUm§Mm
Amho.

2) ^mJ-~ _Yrb H$moUË`mhr VrZ àým§Mr CÎmao X²̀ m. ^mJ-~ _Yrb àË òH$ àý 10 JwUm§Mm
Amho.

3) {ZX}emZwgma ^mJ-H$ _Yrb àý H«$_m§H$ 10 Mo CÎma X²̀ m. àíZ H«$_m§H$ 10 hm EHy$U 10
JwUm§Mm Amho.

PC-4023

^mJ - A^mJ - A^mJ - A^mJ - A^mJ - A [2 × 15 = 30]

àíZ àíZ àíZ àíZ àíZ 1) bmoH$àemgZmMm AW© ñnï> H$am Am{U bmoH$àemgZ `m {df`mÀ`m {dH$mgmÀ`m Q>ßß`m§Mr MMm©
H$am.

àíZ àíZ àíZ àíZ àíZ 2) gmd©O{ZH$ YmoaUmÀ`m AW© Am{U CpX²Xï>m§Mr MMm© H$am. gmd©O{ZH$ YmoaUm§Mo {d{dY àH$ma
CXmhaUm§gh ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) _°Šg do~aÀ`m ZmoH$aemhr Ñ{ï>H$moZmMo (ã ẁamoH«°$Q>rH$ AàmoMMo) {M{H$ËgH$ _yë`_mnZ H$am.

àíZ àíZ àíZ àíZ àíZ 4) Ý`m{`H$ bmoH$àemgZ (OwS>r{e`Z A°S>{_{ZñQ´>oeZ) åhUOo H$m`? ^maVmV Ý`m`mb`m§Mo ñdmV§Í`
A~m{YV ahmdo `mgmR>r Agboë`m {d{dY VaVwXtMr MMm© H$am.

^mJ - ~^mJ - ~^mJ - ~^mJ - ~^mJ - ~ [3 × 10 = 30]

àíZ àíZ àíZ àíZ àíZ 5) bmoH$àemgZm_Yrb CÎmaXm{`Ëd Am{U {Z §̀ÌU `m§Mm AW© gm§Jm. ^maVmV H$m`Xo_§S>i H$m ©̀H$mar
_§S>i d bmoH$àemgZmda àñWm{nV H$aV Agboë`m {Z §̀ÌUmÀ`m {d{dY VaVwXtMr MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 6) "Ý`m{`H$ bmoàemgZmVrb Z¡{VH$Vm' `mda g{dñVa MMm© H$am.
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àíZ àíZ àíZ àíZ àíZ 7) gmd©O{ZH$ YmoaU Am{U H$m`©H$mar _§S>imÀ`m H¥$VtMo g_mOmda hmoUmao n[aUm_ CXmhaUm§À`m
AmYmao ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 8) \o$S>[aH$ Q>oba ̀ m§Mm bmoH$àemgZmMm Aä`mg H$aÊ`mMm "emór` ì`dñWmnZ Ñ{ï>H$moZ' (gm §̀{Q>{\$H$
_°ZoO_|Q> AàmoM) {deX H$am.

àíZ àíZ àíZ àíZ àíZ 9) bmoH$àemgZmMm amÁ`emó d {dYr `m {df`m§gmo~V Agbobm nañna g§~§Y ñnï> H$am.

^mJ - H$^mJ - H$^mJ - H$^mJ - H$^mJ - H$

àíZ àíZ àíZ àíZ àíZ 10) {Q>nm {bhm. (H$moUË`mhr XmoZ) [2 × 5 = 10]

A) gmd©O{ZH$ YmoaU Am{U {Z`_ `m§Vrb \$aH$

~) POSDCORB (nmoñS>H$m°~©)

H$) B-H$moQ>©

S>) gwemgZ (JwS> JìhZ©Ýg)





PART - A [2 × 15 = 30]

Q1) Why does black money exist in India? How can we reduce black money
and corruption?

Q2) What is poverty? How do we measure poverty? What are the policies to
reduce poverty?

Q3) Explain the Big Push Theory.

Q4) What is economic development? How is economic growth different from
economic development?

Total No. of Questions : 10]
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PART - B [3 × 10 = 30]

Q5) What causes regional disparity in India?

Q6) What is sustainability? How do the SDGs help with sustainability?

Q7) What is the problem of hunger in India? How does the Public Distribution
System (PDS) help?

Q8) What is Myrdal’s Theory of Circular Causation?

Q9) What are the problems with corporatization of farming?

PART - C

Q10) Write short notes on any two : [2 × 5 = 10]

a) Determination of HDI

b) SMEs and MSMEs

c) Institutional and Non- Institutional Agricultural Credit

d) Multidimensional Poverty Index





Total No. of Questions : 10]

[6363]-233
S.Y. B.A. LL.B.
ECONOMICS

BA-0303 : Theories of Development and Indian Economy
(2023 Pattern) (CBCS) (Semester - III)

(_amR>r ê$nm§Va)
doi : 3 Vmg     ] [ EHy$U JwU : 70

gyMZm : 1) m̂J-A _Yrb H$moUË`mhr XmoZ àíZm§Mr CÎmao Úm. ^mJ A _Yrb àË òH$ àý 15 JwUm§Mm
Amho.

2) m̂J-~ _Yrb H$moUË`mhr VrZ àým§Mr CÎmao Úm. ^mJ ~ _Yrb àË òH$ àý 10 JwUm§Mm
Amho.

3) m̂J-H$ _Yrb àý H«$_m§H$ 10 Mo {ZX}emZwgma CÎma Úm. ^mJ H$ _Yrb àË òH$ àý 5
JwUm§Mm Amho.

4) Amdí`H$ VoWo AmH¥$Vr H$mT>m.

PC-4024

^mJ - A^mJ - A^mJ - A^mJ - A^mJ - A [2 × 15 = 30]

àíZ àíZ àíZ àíZ àíZ 1) ^maVmV H$mim n¡gm H$m ApñVËdmV Amho? AmnU H$mim n¡gm Am{U «̂ï>mMma H$gm H$_r H$ê$
eH$Vmo?

àíZ àíZ àíZ àíZ àíZ 2) Xm[aÐç åhUOo H$m`? AmnU Xm[aÐç H$go _moOVmo? Xm[aÐç H$_r H$aÊ`mgmR>r H$moUË`m YmoaUm§Mm
dmna hmoVmo?

àíZ àíZ àíZ àíZ àíZ 3) {~J nwf {gÕm§V ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Am{W©H$ {dH$mg åhUOo H$m`? Am{W©H$ dmT> Am{U Am{W©H$ {dH$mg `mV H$m` \$aH$ Amho?

3 P.T.O.
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^mJ - ~^mJ - ~^mJ - ~^mJ - ~^mJ - ~ [3 × 10 = 30]

àíZ àíZ àíZ àíZ àíZ 5) ^maVmVrb àmXo{eH$ Ag_mZVoMr H$maUo H$m` AmhoV?

àíZ àíZ àíZ àíZ àíZ 6) emœVVm åhUOo H$m`? SDGs emœVVo_Ü ò H$go _XV H$aVmV?

àíZ àíZ àíZ àíZ àíZ 7) ^maVmVrb ŵHo$Mr g_ñ`m H$m` Amho? gmd©O{ZH$ {dVaU àUmbr (PDS) H$er _XV H$aVo?

àíZ àíZ àíZ àíZ àíZ 8) _m`aS>b `m§Mm nañna g§~§{YV à^md {gÕm§V H$m` Amho?

àíZ àíZ àíZ àíZ àíZ 9) eoVrÀ`m H$m°nm}aoQ>m`PoeZgh g_ñ`m H$m` AmhoV?

^mJ - H$^mJ - H$^mJ - H$^mJ - H$^mJ - H$

àíZ àíZ àíZ àíZ àíZ 10) H$moUË`mhr XmoZ da N>moQ>çm ZmoQ²>g {bhm … [2 × 5 = 10]

A) EMS>rAm` {Z{üVr

~) bKw d _Ü`_ CÚmoJ (SMEs Am{U MSMEs)

H$) g§ñWmË_H$ Am{U {~Ja-g§ñWmË_H$ H¥$fr H$O©

S>) ~hþAm`m_r Xm[aÐç {ZX}em§H$ (Multidimensional Poverty Index)





PART - A [2 × 15 = 30]

Q1) Explain in detail pre- and post-independence Dalit Movement in India.
Q2) Define Social Institution. Discuss the interrelationship between Family, Marriage

and Kinship.
Q3) What is Pluralism? Explain how diversity shaped the Indian Society.
Q4) What are the characteristics of Tribal society? Discuss pre-independence

tribal movement in India.

PART - B [3 × 10 = 30]

Q5) Discuss the differences between Rural and Urban Society.
Q6) Explain the relationship between State and civil society in context of NGO’s

and Pressure Groups.
Q7) Define Gender? Explain how Indian society is stratified based on gender.
Q8) Critically evaluate the factors for continuity and social change in India.
Q9) Define Regionalism. Elaborate the issues of regionalism in Indian Society.

Total No. of Questions : 10]
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PART - C [2 × 5 = 10]

10) Write Short Notes on (any two)
a) Issues of language
b) Primitive and Nomadic Tribe
c) Westernization
d) Class stratification

♦♦♦



Total No. of Questions : 10]

[6363]-234
S.Y.B.A.LL.B.

BA - 0304 : SOCIETY IN INDIA
(2023 CBCS Pattern) (Semester - III)

(_amR>r ê$nm§Va)
doi : 3 Vmg ]                      [EHy$U JwU : 70
gyMZm : 1) ^mJ A _Yrb H$moUË`mhr XmoZ àíZm§Mr CÎmao X²̀ m. ^mJ A _Yrb àË òH$ àíZ 15 JwUm§Mm

Amho.
2) ^mJ ~ _Yrb H$moUË`mhr VrZ àíZm§Mr CÎmao X²̀ m. ^mJ ~ _Yrb àË òH$ àíZ 10 JwUm§Mm Amho.
3) {ZX}emZwgma ^mJ H$ _Yrb àíZ H«$_m§H$ 10 Mo CÎma Úm. àíZ H«$_m§H$ 10 hm EHy$U 10

JwUm§Mm Amho.

^mJ - A
[2 × 15 = 30]

àíZ 1) ^maVmVrb ñdmV§Í`nyd© d ñdmV§Í`moÎma X{bV MidirMo g{dñVa {ddoMZ H$am.
àíZ 2) gm_m{OH$ g§ñWoMr ì`m»`m H$am. H$m¡Qw>§{~H$, {ddmh Am{U ZmVog§~§Y `m§À`mVrb Am§Vag§~§Ym§da

MMm© H$am.
àíZ 3) ~hþbdmX åhUOo H$m`? {d{dYVoZo ^maVr` g_mOmbm H$go AmH$ma {Xbo Vo g_OmdyZ gm§Jm.

àíZ 4) Am{Xdmgr g_mOmMr d¡{eîQ>ço H$moUVr? ^maVmVrb ñdV§Í`nyd© Am{Xdmgr MidirMr MMm© H$am.

^mJ - ~
[3 × 10 = 30]

àíZ 5) J«m_rU Am{U ehar g_mOmVrb \$aH$m§da MMm© H$am.
àíZ 6) ñd §̀godr g§ñWm Am{U X~md JQ>m§À`m g§X^m©V amÁ` Am{U ZmJar g_mO `m§À`mVrb g§~§Y ñnï>

H$am.
àíZ 7) {b§J^md n[a^m{fV H$am? qbJmÀ`m AmYmao ^maVr` g_mOmMo dJuH$aU H$go Ho$bo OmVo ho

g_OmdyZ gm§Jm.
àíZ 8) ^maVmVrb gmVË` Am{U gm_m{OH$ n[adV©ZmÀ`m KQ>H$m§Mo g_rjH$ _yë`_mnZ H$am.
àíZ 9) àmXo{eH$VoMr ì`m»`m H$am. ^maVr` g_mOmVrb àmXo{eH$VoMo _wÔo {deX H$am.

P.T.O.
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^mJ - H$
àíZ 10) {Q>nm {bhm… (H$moUË`mhr XmoZ) [2 × 5 = 10]

A) ^mfoMo àíZ

~) Am{X_ d ^Q>Š`m O_mVr

H$) nmpíM_mË`rH$aU

S>) dJ© ñVarH$aU

♦♦♦
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